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1 Wi 3A= 9.42 0.00 22, 800 26, 700 13, 350 20,025 3A=R 2.79 0.00 6, 700 8, 400; 4, 200! 6,300 2A= 2.08 0.00 13, 600 0|
2 KR 3A= 9.20 0.00 26, 300 28, 800 14, 400 21,600 3AR 2.90 0.00 8, 400 9, 500 4, 750, 7,125 3A=R 2.70 0.00 10, 000! 7, 400
3 @ 3A= 7.90 0.00 25, 200 20, 400 10, 200 15,300 3A= 2.80 0.00 8, 400 7,200 3, 600 5,400 3AR 2.50 0.00 10, 800 6, 000
4 EET 3A= 6.80 0.00 23,900 16, 800 8, 400 12,600 3A= 2.60 0.00 8, 800 6, 700 3, 350 5,025 3AR 2.30 0.00 10, 600 5, 700}
! (8. 30) (27, 900) (21, 600) (10, 800) (16, 200)
5 p— 4AHR 6. 65 11.00 26, 100 24, 400 12, 200 18,300 4A=R 2.57 4.00 8, 300 7,900 3, 950! 5,925 4AR 1.55 1.90 8, 900 7,000
6 | mae 3A= 8.17 0.00 26, 600 20, 300 10, 150 15,225 3A=R 2.47 0.00 8, 300 6, 300 3, 150; 4,725 3AR 1.73 0.00 8, 200 4, 200|
7 i 3A= 8.30 0.00 28, 500 26, 000 13, 000 19,500 2A= 2.50 0.00 9, 800 0] 0] 0 2x/= 2.85 0.00 14, 000 0|
8 il 3A= 7.05 0.00 22,000 26, 000 13, 000 19,500 3A= 2.90 0.00 8, 100; 7,800 3, 900 5,850 3AR 1.75 0.00 7,800 7,800
9 B 3A= 7.90 0.00 28, 800 21, 600 10, 800 16,200 3A= 2.90 0.00 10, 500 7,800 3, 900; 5,850 3AR 2.60 0.00 11, 800 5, 600]
(7. 30) (15. 00) (19, 200) (9, 600) (14, 400) (2. 00) (6.00)| (8,400)| (5,400)| (2,700) (4, 050) (1.50) (8.00)| (8,400)| (5, 400)
10| x=® 3A= 1.70 0.00 29, 200 22,000 11, 000 16,500 3A= 2.50 0.00 10, 100 7, 400 3, 700; 5,550 3AR 2.00 0.00 10, 300 5, 800|
" g 3A= 8.30 0.00 26, 400 24,000 12, 000 18,000 3A= 3.00 0.00 6, 500 7,200 3, 600 5,400 3AR 3.30 0.00 9, 500 5, 900]
(7. 30) (23, 400) (20, 000) (10, 000) (15, 000)
12 | mieR® 3A= 8.50 0.00 26, 900 26, 000 13, 000 19,500 3A= 2.60 0.00 8, 500 7,000 3, 500 5,250 3AR 1.80 0.00 9, 400 6, 000
13| mmm® 3A= 8.00 0.00 26, 600 20, 600 10, 300 15,450 3A=R 2.30 0.00 8, 200 6, 200 3, 100; 4,650 3AR 2.10 0.00 8, 200 4, 300]
14| 3A= 7.40 0.00 29,700 21, 800 10, 900 16,350 3A=R 2.70 0.00 10, 000! 7, 400 3, 700 5,550 3AR 2.30 0.00 11, 500 5, 400]
(6. 80) (25, 000) (18, 400) (9, 200) (13, 800) (2. 00) (10,000)| (4, 600)
15| wsmer 3A= 7.35 0.00 23, 500 217,000 13, 500 20,250 3A=R 2.45 0.00 6, 500 7,000 3, 500 5,250 3AR 1.50 0.00 10, 000! 4, 500}
16| KTy 3A= 5.00 0.00 19, 800 15, 000! 7,500 11,250 3A= 2.60 0.00 10, 500 7,500 3, 750! 5,625 3AR 1.80 0.00 9, 300 4, 500
17| =mam 3A= 4.50 0.00 18, 000 13, 000 6, 500 9,750 3AR 2.10 0.00 8, 200 6, 300 3, 150; 4,725 3AR 1.70 0.00 9, 500 4, 500
18| ey 3A= 7.31 0.00 26, 000 13, 500 6, 750 10,125 3A=R 2.50 0.00 8, 600 5, 000; 2,500 3,750 3AR 2.87 0.00 10, 100 5, 300]
19 | A 3A= 6.30 0.00 26, 200 19, 200 9, 600 14,400 3A=R 2.50 0.00 10, 400 7, 600 3, 800 5,700 3AR 2.10 0.00 11, 100 5, 100}
20 | KE@E 3A= 1.70 0.00 32,000 23,000 11, 500 17,250 3A=R 2.50 0.00 10, 000! 7,000 3, 500 5,250 3AR 2.20 0.00 12, 000 6, 000
(9. 00) (35, 000) (30, 000) (15, 000) (22, 500) (8,000)| (4, 000) (6, 000) (14,000)| (8, 000)
21| frieEr 3A= 8.00 0.00 26, 500 24, 600 12, 300 18,450 3 AR 2.90 0.00 8, 700 9, 500 4, 750, 7,125 3AR 2.90 0.00 10, 900 8, 000]
2 | xEgH 3A= 8.30 0.00 26, 500 30, 000 15, 000 22,500 3AR 2.80 0.00 9, 500 9,000 4, 500! 6,750 3AR 2.80 0.00 10, 500 8, 000|
23| mrEr 4HR 6. 60 20. 00 21, 600 19, 800 9,900 14,850 4 A= 2.60 8.20 9,000 8, 400 4, 200 6,300 4A=R 1.90 6. 60 9, 600 6, 000
2| maEr 3A= 6. 40 0.00 22, 400 19, 600 9, 800 14,700 3A=R 2.40 0.00 8, 800 6, 800 3, 400; 5100 3A= 1.70 0.00 8, 200 4, 200]
25 | juEmEr 3A= 7.10 0.00 23,000 28, 000 14, 000 21,000 3AR 2.50 0.00 9,000 8, 200 4,100; 6,150 3A=R 1.80 0.00 9,000 4, 500
2% | e 3A= 5.90 0.00 24,500 18, 000 9,000 13,500 3A= 2.40 0.00 8, 900 7,100 3, 550! 5,325 3AR 1.80 0.00 9, 600 4, 400|
27 | emezEr 4HR 5.88 13.90 26, 000 21,100 10, 550 15,825 4A=R 2.23 4.30 9, 600 7,300 3, 650! 5,475 4AR 1.75 4.60 10, 000! 5, 100}
28 | nEET 4HR 7.20 27.00 23, 200 17, 600 8, 800 13,200 4A=R 1.80 7.00 6, 000 4, 400; 2,200 3,300 4A= 1.50 8.00 7,100 3, 900]
20 | =Er 4HR 6.20 4.00 24,000 22, 800 11, 400 17,100 4A= 2.70 1.50 8, 400 7,200 3, 600 5,400 4AR 2.00 2.00 8, 400 4, 800]
- (6. 00) (8. 00) (2. 60) (3. 00) (1.90) (4. 00)
30 | erEr 3A= 6. 60 0.00 24,000 19, 100 9, 550 14,325 3A=R 2.30 0.00 7,900 6, 300 3, 150; 4,725 3AR 2.30 0.00 11, 200 6, 400
6.17) (13. 64) (2.08) (4.52) (2.18) (5.42)
31| EmEr 3A= 7.50 0.00 28, 000 20, 000 10, 000 15,000 3A= 2.55 0.00 9, 650 7, 600 3, 800 5,700 3AR 1.85 0.00 10, 600 6, 200
(7.90) (15.40)|  (34,000) (16, 000) (8, 000) (12, 000) (2. 20) (8.90)| (8,000 (7,300)| (3, 650) (5, 475) (7.50)
32 R E#X 3A= 7.20 0.00 24,000 24, 800 12, 400 18,600 3A= 2.50 0.00 8, 300 8, 400 4, 200 6,300 3AZR 2.20 0.00 9, 700 6, 600
LiEEE
EO¥ B 7.25 2.50 25, 256 21,922 10, 961 16,174 2.56 0.83 8, 705 7,106 3, 553 5, 245 2.13 0.78 10, 044 5,284
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